o
[N

o
N

Ratio

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

...............

bs -

2 ot s d e & 1 s o a s o & o

-1

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

2 S SRR
= R B o X b s SEITRL
PO SR [ A O

L i i i i !
1 i ; -H 4 -dldl - ---
0.5F-- 1t
-2

|
w

-1

0

1 2 3

TP n (PCA to beamline)

—=— DQM_TT__ORIGINAL

—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2

-1

0 1 2 3
TP n (PCA to beamline)

|
w

-1 0 1 2 3

TP n (PCA- to beamline)

—

100

|
w

-1

0

1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


